Revision

A. Write the numbers in ascending order.

1. 99 72 81 52

2. L6 29 67 53

B. Write the numbers in descending order.

1. 59 98 81 41

2. 79 90 36 23

C. Add the following.
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(( Worksheet 2 ))

A. Multiply the following.

1. 7x5= 2. 2x8= 3. 3x9=

b. 6 x10= 5. 5x 5= 6. Ux3=

B. Circle the correct unit of measurement.
1. Rashi’'s house is just 2 kilometres/ centimetres away from her school.
2. The weight of Pranjal’s school bag is 3 centimetres/ kilograms.

3. The capacity of Anuj's water bottle is 1 litre/millilitre.

C. Write the correct answer in the blank.

1. The fifth month of the year

2. The month after March

3. We celebrate Children’s Day in

D. Complete the given pattern of numbers.

1. 1 3 5 7

2. L4 8 12 16

3. 10 20 30 uo
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Numbers up to 1000
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A. Put >(7< or =in the Q

1.111(::)qq 2. 30(::)108

B. Write in increasing order.

1. 82, 89, 85, 81
2. 140, 134, 143, 103
3. 187,156, 112,172

C. Wirite in decreasing order.

1. 27,81, 54,92
2. 199,109, 190, 119

3. 125,157,172, 122
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A. What is in the ones place of each number?

1. 218 2. 394 3. 567
B. What is in the tens place of each number?

1. Lbo 2. 724 3. 578
C. What is in the hundreds place of each number?

1. 165 2. L27 3. 689
D. Write the place values of the bold digits.

1. 134 = 2. 270 = 3. 518 =
4. 849 = 5. 406 = 6. 369 =

E. Write the numbers in expanded form.
1. 134 =

2. 953 =

3. 6LL =

4. L97 =

5. 528 =

6. 283 =

F. Write the numbers in standard form.

1. 300 +L0+ 2= 2. 500+90+7 =
3. 700+r0+1=______ b. 500+80+9=
5. 600 +50 +0 = 6. LOO+90+9=
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Fill in the boxes.

200 + 600 =
250 + 400 =
476 + 500 =

350 + 540 =

Find the sum.
RS
1 9 0

+ 2 0 2

8 2 4
12 2
+ L 6

. 300 + 300 =

. 300+ 3=

. 605+ 220 =

. 750 + 30 =
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A. Tick (v) the correct option.

1. 10+86 =

a. 96 () 676 () <66 ()

2. 100 more than 277 is

a. 772 () b.o377 () o3 ()

B. Word problems.

1. Anilread 135 pages of the English Reader and 128 pages of the Hindi
Reader. How many pages did he read in all?

2. Sushma has 138 bangles and Sudha has 152 bangles. How many
bangles do they have in all?

C. Add.
LT o ©oT1o o1 o
9 8 8 0 b7
+ 8 0 + 3 0 +15 5
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Subtraction
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A. Tick (V) the correct option.

1. When you subtract 1 from 52, the answer is

a. L2 () b5 ()

o

52 ()

2. When you subtract 0 from 70, the answer is

a. 70 () b 69 ()

o

3. 3 tens can be exchanged for

a. 2 tens 9 ones O b. 2 fens 10 ones D

B. Fill in the boxes.

1. 17-0= 2. 49-1=
b 71-1= 5. 31-0=
7.90-0= 8. 52-52=

C. Matich the columns.

1. 20-10 a.
2. 80-30 b.
3. 75-20 c.
u. 51 -20 d.
5. 45-U40 e.
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50

31

71 ()
2 tens 11 ones D

/5-75=
88 — 88 =

65-1=
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Addition of Bigger Numbers
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A. Solve.
1. 3u8 + 123 = 2. 341 + 145 =
3. 147 + 252 = u. 785+ 111 =
5. 676 + 213 = 6. 23U + L2L =
7. 369 + 232 + 305 = 8. 2u8 + U433 + 156 =
9. 336 +285+ 178 = 10. 145+ 355+ 320 =
B. Solve.
1. 2. 3
el ElEaE EiEE
1 2 8 6 L4 O S0 L
+ 7 1 3 + 2 6 1 + L4 3 6

)]

YT o ComTo
2 L4 1

+ 4 1 1 + 3 2 1 + 1 0 O
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Solve.

1. Father washed 135 towels, 11U sheets and 130 pillow covers. How
many items in all did he wash?

2. 341 children visited a toy shop on Saturday and 360 visited on Sunday.
How many children visited the toy shop?

3. The children of Class 3B planted 200 rose plants and 110 lily plants.
How many frees did they plant in all?

u. There were 112 books lying on a table. Reeta put 25 more books on
the table. How many books are there on the table now?

5. Anilread 135 pages of the English Reader and 147 pages of the Hindi
Reader. How many pages did he read in all?

6. Rehman had 146 marbles. His father gave him 39 more marbles. How
many marbles does Rehman have now?
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Subtraction of Bigger Numbers
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A. Solve.
1. 619-309

2. 839-502

3. 487 -2u2

4. 384 -L42

5. L65-19

6. 636 — 56U

7. 937 - 265

8. 799 -L9au

9. 997 - 890

10. 356 - 300

11. L09-19

12. 865-50

13. 745 -3L5

4. 883 - LO3

B. Solve.

There are 95 chillies on a plant. 59 chilies fell. How many chillies were
left on the plant?
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Solve.

1. Melinda had 2u0 glass marbles. She lost U9 marbles. How many
marbles is she left with now?

2. There are U80 kids in a preschool. At lunchtime, 252 kids left to go
home. How many kids remained?

3. There were 900 sheep in a sheepfold. 450 sheep are sold by the owner
to another farmer. How many sheep does he have now?

u. A bookshop has 600 novels on its shelves. U50 novels were sold. How
many novels were left?

5. There were 700 people attending a party. U50 people were wearing a
red coat. How many people were not wearing a red coat?

6. Sonu received 3540 as pocket money. She spent L0 on a book. How
much money is left with Sonu?

7. LOO cars can be parked in a parking lot. 270 cars have been parked in
it. How many more cars can be parked there?
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